mfro &Muc‘ H\A L9h<<1" ) ARG Jr 2
Y
m - d’ (D) CR \dl\}.(b

Ta\'owwg nC  Aurjace:
DR —R
f)“g,'av:f Le | c'v\oLL V(M,V)GDJ

Y.
$ 'S lmMmevsive / of PN "l'\MLrSfon
Than
Arw. f “3 “’ A 9\ 47 \ dudv.
D
E_Xfﬂ’h: <C%u“°\°f vadwms €79, kukg‘n{‘ h>o >
—_\ ) CTlA.fzS.\'i AWQ, = 21Tf'-"\.
T \-—/J/ " L’ 3 f'w" s 'a(m\>|,. {wmu,\a,
WK s
l \‘é:_< FV‘S\’ we “KQA 2 PQTaM\E\—“Za o

VL_/ ep H\g, <8L'v‘0l&c .

Sk

Lo

,{(X,gﬂ)'- X4y =rt , 982 <h}

x=rw?b- <|>
\‘3/ { —r’m\9=¢\> ¢(&Z)

n-
z -2 “d’z

—_
?_1/-_\.1\_Tn7.;11|'nl.'| A'Il?-s



Ef = i (&,z) D = (o] k[0, h] —— K‘

- ¢ (D).
a Lok
I A S
%4, 3,}\?) az_d')z i

Now |

- -

>
t ) k 9
= &Al- —rsimd ron® 0
0 _ =
) 1 +ok
v 5 5
— 1 M [-r,,\a“b YCMSX = rd L 1 V'/l‘l'V\eJ
19,402,412\ (ra)t ¢ Gand) 0
=‘I—"Z = ¥ (r>o>
RN
=) ANa ( Cta,') = j r d9dz = r)\2<[0/’l.n]x>
0<h ¢2n [o,h]

0Lz ¢h
= V. Z‘N'L\ g

Ex S
3 74
#1 Area () m = -fU,lJ,Z)GTR (239,220 _



#1 Area (m) m - {(x,g,Z)E'TRNsLS 17,5/2 230




| havejort ,L\\rcaUn/ = ) UMYyt g
D
- - =
N 5 (" 1 J L
RN dd |, o -
L O 1 o
) -
A L] B ‘:_Z
= M[ﬂ 1 ( )
3 2
= A $ k
— =
“'bxq/\ta;}4> \\ 1d42+ 0T+ 1" = \E

/T
= Awoc (m) =l/f (2 o\.bo\l}

2
(x-1y 4y <!

B A (Dik wedia )= A T

53.1

_l‘.\:l m = { (X}m?)ffEﬂ’_'@z*zl;(‘L’ }

2

(-5)4) < §

To (aw\tmt area 0{

'm We rveed '[”0 Parah(;
fL}) \ l—..‘zp m -




’\ \. ~
{[ )"g S J‘ guy ( hil!— m
x. =N S

o ¢
d—;’ ‘E(’S}) = (zzlﬂ'/ vt (x7'+)L)>
(m,ta)c-"Dz{(z_VL -}]\<
> Area (m) = 113 \\a,giwb}fcb\lotxo\.?r
I =
A )
O PSRN S N B 0
-
o) 1
- 0 -=1 _ )

=/ AJ[" -@X 1“[4

‘:( . > _1. <, LT
v '

]

z = i\\ r = (x"-t)f‘)




(&= =)

R
o 2

) 5 > : i
= 19,4 A D.Jd> | = \F‘—(Xz*)')Jr ri-(x4y) +

—

——

245 () (5

\J rL —_ (Xz-}yt)

V4
r -0 2 \!{ S\
—T‘}LSBSY{ x-rx+4 -”QX

psr @9 X4y" - rx €0
1
/1 ﬂ, e



| - NI O TVA XY

/ @Pl_rpa»&so
» T
> SR
4 b

S 20

_T b& p < VCJ ]

y ™20 & ‘{SO\‘TL
r- rcond

LY Y
EF f J CF)/?— dP do ¥ g
rl_P‘l ‘\/
-"VL (o)
/L )Y W,
= j J —("L'PL> P ‘Jf’ dv
Ty °



W
|+ W
I\ Q
0-1
1 —
= Y‘Z (% “(\> = rL(T—Z) o

—

Let {-= -f(n‘(]i"bcﬂez — R
\ {64 A

AL e




- I!D;N

x

. C‘\rﬂ:\\({—)) - { (’l,ba,,-f(x,\})) '. (%.\a)eb}
lf /{ e%' we Thave het C:ra[;),{ ([) hav, be
’em 2 ‘:c.r O«NM\TA C Aur(&u, : 2

- K
\wdued .f ve  ded d) : Dc,\ R ].EZ
(x, 1 — (1,3,(’(7,\0))

= C-E(D) = Gm\;‘» (.D To check ‘H«at $
O\kr\\u,s G A(Ar{ab. e, weeol +o CLu.c|r~ .‘(

rk [Bxc|> Dygﬂ =2
?
’ade: (4/0/”5x:€> 9x€l>:’>\3)¢

26 = (01, 9¢) | )
— <o>._)(l) i pS
u O

}
3x¢,3)¢ ore (i tncle P



= JP 5 M Immersion @

Lct )_9 nee WLQ\- :\Q\;rC(\S R H\"S (aS¢ l':; WG

form»"a .

Areo ( Geaph (F) = J (X 34‘147 I dxo\]

R
RN chd 1 0
o 1 ad.

o o %L
uln glewll

= ( _gx'f ) -3,31( ) 1 )
S 1,d a0 ¢0 <\ (07 (BN 41
I ap)) "
I\

(2l



= Ama(GraPL (f)) - J‘d¥’1 + 1061 dx(;ly,.
P

Ex 515 Arga &‘- 2 Sw‘u/rc. 0]; rondiug r.

N

L grah «P{(x)

=4




\ = (xy |v*-Riy)

I
3(0,3‘
defd o {OpeR xzﬂ‘n‘}zD

O ke (Espe) =] 1 T

03471\<r"

:f(x/‘ﬁ) _ \FL_ (XL+)L)

-0 ) B2,
= | vf '\2 = * + T?LL —
"~ (¥4") = (ety’)

_ xz'-ly"
ri- (xﬂy")
~ ) p S L _ \|7'1 1 ’114;!1. A
= A“( 1 ") x§+yz$r2 r* - (ayt) Xd‘f
3 J \/YL- (%{) t M
I - — dxo\\a,
vyt r = (84D



A (=) = (-g) T (Ap)
i Pl)yl]:_:o = L7
0 —()* - _r

hrea () = 1@ 0(S) - [ 1
S

oy ™ ]
[t o

Le"' = ¢ (1,{1,2)1 ﬂ?z ——91’]3 . We wqmi‘ {'o



b g (ga) s R —5 R M uant b
%\'vc ? LV |‘n? t :

[ g dr = [ q(a6n) 12,403, 4] dudv
[m D

Flux oi > vedor ic'cu

Def A wdor [ 5 [inclion

e

= 3 3
F:R — R
2 ¢
/ E # — \—- (X,V’Z)
\ > | o _
> ~ < = (F| (“l‘].z) ’ FL()')\I)Z.)' l‘s(x;ﬂlz)

Ao

e‘ Aum"}l&, ('\"TC%V“’"IS S

}ﬁ,l«; CG.:‘?OY\S

.
m r I a\ny



L Uwlegrals o
Owm o'[ \“3:)" ?“’L‘ Cc"\-’b“’s e" Auh('} %

; lw 2> vedor
P LV Tro\ol:.w\ o‘( Lmv\]:utw\g_ 3 &__{‘ of i
@dd 'h\ra\ua\u A sl
o (xy,2) '1\2'
F
1

I
> 5 !
Q= Fr = IFLIElet
= TCa )
f \ no\'h\a\ Vu,\'or o\r\'t\baoha\ t_
/ the ’amall PO\T\'OV\ 0( Wt‘?(ﬂc

ﬁ

' F on
We ey 0y hna\' The tht’ws;tj 01(
Awall $o Fon 0 { SAF 1(0 7 19
\;?'-" s arca(Sur.[faa,)

L Fhl edibl > FR . aveo(swfac)

2 3
r~ J\‘.w 4G



:P_C_{‘. We -:f|vx o( 1:3 ‘H\rougk m ‘d\p

what y‘f;ﬂ'(x j,z) v the m\d_ novrmal ve,cfor
, (W= | ‘ﬂr?ehcbw{ﬂr

n

v D L\’

/o \R

Vnct'or v-? hﬁu({'
be L ’Bu&, Qvﬁb

T\\( ¢ e C‘Vof \$
]_\

- 9“4)1\3\[4)
" .

TS YY

b Fcﬂt, lf W - 9D

f Frndo = _f F:z-r-{ -|\3ud>/\3v4>|| dw dv






Ex 5.7 Cown\aw\'e the £\W of

f? - F (",‘J,Z) T= (%)7—) x)
‘H\You %\n ‘mm\oo\o\'ol 2= s 4‘31 Lelfween €282 .
<2

Slowms foyzeR” 2.y, eze]
Z N

A

Ld's b e fmawh(zahbh- POy = (2,9, Kol
F(POy) = F( x’,«ﬁ, ""'L‘Jl)

i '\af xﬂy" X )
= O\ft 4 Q X & Dx¢
‘ S'lefy"s'l | © 1 Z% | &« 9}4’




s sy o (g x) e d
|$11+yl€L

3 s (_21\& — 2\3 (xz+7z)+ 7) o\xdj

| ¢ xiytet

J K—Zfzémﬁm'@@ - 1pnd 4 ,o(m&a%o&

’)l. (oords l¢p' e

0¢h <2
@ . IT u
T ap [ 8 -2p" [and s f o
{ * 0 ° S
@
- O.m

Do 511 H 3,4
RS :



